

Date:

Sub:

سجل الحسابات

19/50

$$t_1 + t_1 r + t_1 r^2 = 11 \quad t_1 + t_1 r^2 = 10 \quad t_1 r = 10 - 11 = -1$$

$$t_1 + t_1 r = 9 \quad t_1 + t_1 r^2 = 10$$

$$t_1 r^2 = 10 - 9 = 1 \quad t_1 r^2 = 10 - 9 = 1 \quad t_1 r = 10 - 11 = -1$$

$$t_1 r = -1 \quad t_1 r^2 = 1 \quad t_1 = 10 - 10 = 0 \rightarrow 1, 2, \dots, r = 1$$

$$L, 10, 2, \dots, r = \frac{1}{r}$$

$$(x^2 - 1) / (x^2 + 1) = 1/x^2 \quad x^2 + 1, 2x, x^2 - 1, \dots$$

$$x^2 + 1/x^2 - 1 = 1/x^2 \quad x = 1 \quad 1, 2, 3, \dots \quad \sqrt{q} > 0 \quad q = 1/2$$

$$x^2 - 1/x^2 - 1 = 0 \quad x = 1 \quad 1, -2, 3, \dots \quad \sqrt{q} < 0 \quad q = -1/2$$

$$(x^2 - 1)(x^2 + 1) = 0$$

$$(x - 1)(x + 1)(x^2 + 1) = 0 \quad S_0 = a_1 \left( \frac{1 - q^n}{1 - q} \right) = 11 \left( \frac{1 - (1/2)^n}{1 - 1/2} \right) = 11 - (11 \times 1/2^n)$$

$$x = \pm 1 \quad 11 - \frac{1}{2} = \frac{21}{2}$$

$$a_1 = 11 \times 2^n \quad a_1(1 + q + q^2 + q^3 + q^4) = \frac{111}{11} \quad \text{or } 10$$

$$S_0 = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = \frac{111}{11} \times \frac{1}{11} = \frac{101}{11}$$

$$d = \frac{b - a}{n + 1} = \frac{95 - 1}{0 + 1} = \frac{94}{1} = 94 \quad a_{10} = A = 1, 5, 10, 15, 20 \quad (K)$$

$$q = \frac{b}{a} \Rightarrow q^1 = 95 \quad q = \pm 1 \quad a_{10} = B = 1, \pm 10 = \pm 10 \quad (M)$$

$$10, 0 + 10, 10 \quad \rightarrow 10, 0 - 10, 10$$

$$-rF, \frac{-q_0}{F}, \dots \quad d = \frac{-q_0}{F} + \frac{q_1}{F} = \frac{1}{F}$$

9 10

$$\Rightarrow a_{1,1} = a_1 + 1 \cdot d = -rF + 1 = 1$$

$$1rA, a_1, \dots$$

$$\Rightarrow a_1 = a_1 r^1 = 1rA r^1 = 1 \quad r^1 = \frac{1}{1rA} \Rightarrow r = \frac{1}{r}$$

$$a = a_1 + td$$

$$aq = a_1 + td \quad (a_1 + td)^r = (a_1 + td)(a_1 + td)$$

$$aq^r = a_1 + td \quad a_1^r + r a_1 d + d^r = a_1^r + 1 a_1 d + r d^r$$

$$1 \cdot d^r + a_1 d = 0$$

$$d(1 \cdot d + a_1) = 0$$

$$d = 0, \frac{-a_1}{1}$$

5 14

$$a = a_1 + td$$

$$aq = a_1 + td \quad (a_1 + td)^r = (a_1 + td)(a_1 + td)$$

$$aq^r = a_1 + td \quad a_1^r + r a_1 d + d^r = a_1^r + r a_1 d + 1 d^r$$

$$-1 a_1 d + d^r = 0$$

$$d(-a_1 + d) = 0$$

$$d = 0, a_1 \Rightarrow r a_1, r a_1, r a_1, \dots$$

X

$$q = r \quad a_{1,0} = a_1 q^0 = \frac{1}{F} \times 1^0 \times 1rA$$

6 14

$$r^1, r^2, r^3, \dots$$

$$r^1 r, r^2 r^2, r^3 r^3, \dots$$

$$r^1 r + r^2 r^2 = F r^1 r^2$$

$$r^1 r (r + r^1) = F r^1 r^2$$

$$r^2 - F r + r^2 = 0 \Rightarrow (r-1)(r-r^1) = 0 \Rightarrow r = 1, r^1$$

11 Vas

عند قاعد قبول صون رتبه ثابت من شور

$$r \cdot \frac{U}{r}, \dots \quad d = \frac{U}{r} - \frac{U}{r} = \frac{1}{r}$$

$$t_r - t_{r+1} = r - \frac{r}{r} - \frac{0}{r} \quad t_{r-1} - t_r = r - \frac{r}{r} = \frac{1}{r}$$

$$t_{r^2} - t_{r^2+1} = r - \frac{r}{r} = \frac{1}{r}$$

$$t_r + k, t_{r+1} + k, t_{r^2} + k, \dots$$

$$\left(\frac{1}{r} + k\right)^r - \left(\frac{0}{r} + k\right)(k-1) = \frac{1}{r} + k^r - \frac{k}{r} = k^r - \frac{0}{r} + \frac{k}{r}$$

$$-F, -0, -\frac{r0}{r}, \dots \quad \frac{k}{r} = \frac{-r1}{r^2 F} \quad k = \frac{-r1}{r}$$

$r = \frac{0}{r}$

11 w

$$t_1, t_r, t_{r^2}, \dots \quad t_1 + t_r + t_{r^2} = U^r$$

$$t_1 = a_1 \quad t_r = a_r \quad t_{r^2} = a_{r^2} \quad t_r - t_1 = \frac{t_{r^2} - t_r}{r} \cdot \frac{r(r^2 - 1)}{r^2 - 1} = \frac{r(r^2 - 1)}{r^2 - 1}$$

$$t_1 + t_1 r^r + t_1 r^r = t_1 (1 + r + r^2) = U^r t_1 = U^r$$

$t_1 = 1$

$r^2 = r(r-1)$

$$t_1 = a_1 = 1 \quad t_r = a_r = r \quad a_r - a_1 = r$$

$q=1 \Rightarrow a = U^r \Rightarrow a = U^r$

$a q^r - a = d \Rightarrow d = \frac{U^r}{r} - \frac{U^r}{r} = 0 \Rightarrow d = 0$